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QUESTION 1

Which of the following features are unique to PowerKVM ? 

A. vTPM 

B. SR-IOV 

C. Support Ubuntu 

D. Factory Integration Linux 

Correct Answer: C 

 

QUESTION 2

A company wants to consolidate six existing AIX workloads onto a single POWER8 server with six LPARs. Which server
option will satisfy the requirement? 

A. S824 with PowerKVM 

B. S822L with PowerVM 

C. S822 with PowerVM Express D. S822 with an HMC 

Correct Answer: D 

 

QUESTION 3

A customer has two Power 570 servers that need to be replaced to accommodate company growth. 

The first server runs a transactional workload with high server usage during the day (8am-8pm) 

The second server runs analytic queries based on the transactional data during the night (10pm-6am). 

A technical sizing analysis determined that each server would require (18) POWERS 3.52GHz cores and 

160GB RAM, considering the needed growth. 

What would be the most cost-efficient way to satisfy the customer needs? 

A. (1) new Power S824 with 24 cores and 384GB and DLPAR CPU resources among LPARs 

B. (1) new Power 770 with 36 active cores and 384GB active, virtualized with capped LPARs 

C. (1) new Power S824 with 36 cores and 384GB, virtualized with capped LPARs. 

D. (2) new Power S824 with 20 cores and 192GB RAM each. 

Correct Answer: B 
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QUESTION 4

What virtualization management solution will allow a customer to implement Ubuntu, Red Hat and SUSE distributions on
POWERS scale-out servers? 

A. Power KVM 

B. Power VC 

C. Power VM 

D. Linux on Power (LoP) 

Correct Answer: A 

 

QUESTION 5

A customer has a 4-node cluster serving a few different applications. The storage requirements are not clearly defined
and would be very unpredictable. 

How would shared storage pools benefit this customer? 

A. They reduce the total required storage by half. 

B. They eliminate the need for multiple repository disks. 

C. They reduce I/O bandwidth by sharing the LUNs. 

D. They reduce the time and effort needed to allocate storage. 

Correct Answer: D 
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